Expand and Simplify the Expressions Below

Level 1

[image: image1.jpg]Expand these brackets.
(@) 8(a+3)

() —4—-17)

(e) 42r-5)

@) —5(3h+6))

@) 3f(m-8)

(K) 3b(2a +11)

() —50b6-3)
(d) f9—e)

) —6(3g-5)
(h) j(2k +4m)
G) —6n(3—1Tn)
@ 5n(12-2n)




Level 2

[image: image2.jpg]Expand these brackets then simplify your answer.

(@) 6(a +2)+3(e+3) (b) 11(6—2)+3(b+6)
(€) 3b+4)+6(b—-3) (d) 6(c +3)+5(c+12)
(e) 8(f+3)+4(5+f) F 7@—2)+3g+4)
(®) alr+7)+a(6+4r) (h) 9k —4)+3(3k+1)
() 82p+2)—-8p+3) () 72q—-3)+3(29+3)
(K) 7(10¢ —2)—2(9 + 3¢) (M 8Bh—4)—6(h+5)
m)7(1ly +2)—-12(y — 4) (n) 24 —7)+54j+7)

(©) 62a+2)+3@+4)+13a  (P) 3(b—8)+9(b+6)—2b




Level 3

[image: image3.jpg]Expand these brackets then simplify your answer.

(@) 2(3b—3)+4(2b—1)+5 (b) 4(4c +3)—3(2c +10) + 3¢
(€) 3d—7)+6d+3(d—-5) (d) 52e+3)+5e+6(2e—9)
(e) 8(f+8)+3(9+2f)+10f (f) 8(4g—-9)+6(2¢+5)—12¢
(® alr+5)+12a+a2+11r) (h) 7Bk —2)— 14k +3(3k +2)
() 3Cm+1)—-3(Tm+2)+13m () 7(2—4n)—8n+4(2n+3)




